@us-31/ SECTION-A

U9 &A1 1 9 8 H Y kI 1 3feh 21 Tk 939 U =R foehey fau mu € fod 9w @&t ©1

3M9hT Tl fashed o1 2|

Question numbers 1 to 8 carry one mark each. For each question, four alternative
choices have been provided of which only one is correct. You have to select the correct

choice.

%WWW%:

(A) 0.125 (B) 0.0125 ©) 0.0375
3. . )
— in decimal form is :

(A) 0125 (B)  0.0125 (C)  0.0375

Wp(x)=4x2—12x+9a?w%:
3 3

3 3
A -, = B -—, - = C 3,4
O ® -3-3 ©
The zeroes of the polynomial p(x) =4x"—12x+9 are :
3 3 3 3
A =, = B -=,-= C 3,4
@ 33 ® -3.-3 ©
< T opfa H afg AABC ~ APQR &, T
A R X 0
6 Het 5 875
I Gl 4.5 9t
B 45t C P
XHAAE

(A) 259 (B) 354l (C) 2754
In the given figure if AABC ~ APQR
A X

R Q
6 cm B 3.75
em M 4.5cm
B 4cm  C P
The value of x is :
(A) 25cm (B) 3.5cm © 2.75cm

If¢ x=a cosh, y=b sind L&l b’x” +a’y’ — a’b’ S g

A 1 (B) -1 <© o
If x=a cosh, y=Db sind, then b’x* +a’y’ —a’b’ is equal to :
A 1 (B) -1 <© o

0.375

0.375

-3, -4

-3, —4

3 99t

3 cm

2ab

2ab
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10.

11.

T IROT G TS99 a1 <eiere f9eq0r ereiq ©

111 127 19 9
A — B _— C — D —
A s (B) i ©  Z 2 D =
A rational number which has non terminating decimal representation is :

111 127 19
A — B — C - D —
A 1 (B) 3 © 2 D) =

e x=a, y=b Tk THIR T x —y=2 T x+y=4 % TA o, Aa TATb F HHM: TH T :
(A) 3,5 B) 53 <© 31 (D) -1, -3
If x=a, y=Db is the solution of the pair of equation x —y =2 and x + y=4, then the respective

values of a and b are :
(A) 3,5 (B) 5,3 © 3,1 (D) -1, -3

sin%60° — sin*30° & A % :

1 1 3 1
A - B — C = D e
(A) n (B) 5 ©) (D) >
The value of sin’60° — sin*30° is :
1 1 3 1
A - B — C = D e
O ® © ® -3
10 - 25 o7 Fae ®
(A) 17 (B) 18 ©) 17.5 (D) 15
The class mark of the class 10 - 25 is :
(A) 17 (B) 18 ©) 17.5 (D) 15

@us-a / SECTION-B
9 G&I1 9§ 14 T TAF 9T 2 37k ¢ |

Question numbers 9 to 14 carry two marks each.

Ifoere favTSH TerliRerd gRI 255 1 867 1 HETH FHIIS® FId hifaid |
Find the HCF of 255 and 867 by Euclid division algorithm.

TS FGUR f(x) = 26" — 7x +3 3 YLIF p, q B, Al p° +q 1 M A HITSC |

If p, q are zeroes of polynomial f(x) =2x" — 7x + 3, find the value of p° +q’.

& T 1< PQR ®, ZQPR =90°, PQ =24 ¥.H. T QR =26 9. . T TN APKR H, ~PKR =90°,

KR=8 ¥.1. T PK ol A J1d hifeu |
P

q,@&
k

Q 26 Yt R8I
In the given triangle PQR, ZQPR=90°, PQ=24 cm and QR=26 cm and in APKR,

Page 4 of 9



12.

13.

14.

15.

16.

/PKR =90° and KR =8 cm find PK.
P

s
k

Q 26 cm R\S cm

?il']zc{sinA=§ &, Al 2cot’A —1 1 HHF J1d HIfST |

If sinA= ? _ find the value of 2cot’A —1.

e 5o sigus I HiftTe 59 o Y=k 2 a1 242 B
Find the quadratic polynomial whose zeroes are /2 and 22 .

{7 STCreIaT WO <1 Hed 1 ity :
ot 0-6 | 6-12 | 12-18 | 18-24 | 24-30
ST ¢ 7 5 10 12 6
Find the mean of the following frequency distribution :
Class : 0-6 | 6-12 | 12-18 | 18-24 | 24-30
Frequency : 7 5 10 12 6
319ET /OR
=1 IREERAT S92 Rl Sgeteh J1d i
ot 0-6 | 6-12 | 12-18 | 18-24 | 24-30
SRS 7 5 10 12 6
Find the mode of the following frequency distributions :
Class : 0-6 | 6-12 | 12-18 | 18-24 | 24-30
Frequency : 7 5 10 12 6

9 G115 Y 24 TF Yk Y99 F 3 37k ¢ |

Question numbers 15 to 24 carry three marks each.

@us-¥ / SECTION-C

fag =ifsre fop T Taagys ot yysnsii & ot o1 41 39k faeol & avif &% 9 & 99H B

Prove that the sum of squares on the sides of a rhombus is equal to sum of squares on its

diagonals.

fag wifse fo % qsn _73 TGUS 4x’+4x—3 F IR T | TGUS %k YAhI qUT ONR] ok TER
T4l ] FATId hifad |

Show that % and _73 are the zeroes of the polynomial 4x*+4x—3 and verify the

relationship between zeroes and co-efficients of polynomial.
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17.

18.

19.

20.

21.

22,

fag wifs fr 4 — 32 T 1l g=a g
Prove that 4 —3+/2 is an irrational number.

31aT JOR
0.3178 Wﬁuﬁww%%mﬁwﬁml

Express the number 0.3178 in the form of rational number % .

Prenortafaa difershiel & = fom 1 797 w1 91 A iy -

cosb0° + 4(cosec2 59° — tan231°)
2sin40° 3tan?45°
Find the value of the following without using trigonometric tables :
cosb0° + 4(COS€C259° - tan231°)
2sin40° 3tan?45°

- %tan12°tan78°.sin90°

- %tan12°tan78°.sin90°

b T | T HITSIC T4 9 (2x +3) TGS 2x° + 9x” — x — b T [UFETES B |
Find the value of b for which (2x +3) is a factor of 2x+9x*—x—b

i@ =t weEd § qense ff Yasw SHiEn 3x—5y =20, 6x—10y+40=0 1 | HTq A1
STHTA €1 TR g1 ot fafe |

Using graph, find whether the pair of linear equations 3x—5y=20, 6x—10y+40=0 is
consistence or inconsistent. Write its solution.

319ET /OR
x Ty < TAC & SHIFST
6 __ 3 _4
x—1 y-—-2
5 1
+—=2,313H%Fx¢1,y¢2
x—1 y-=2
Solve for x and y :
6 3 _,
x—1 y-—-2
5 + 1 =2,wherex=1,y#2

x—1

y—2

i =1 SRIRAT IROf 1 A1ed 27 8, 1 p &1 JH I HiIY -

1

0-10 | 10-20 | 20-30 | 30-40 | 40-50
ST 8 p 12 13 10
If the mean of the following distribution is 27, find the value of p :
Class : 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency : 8 p 12 13 10

fag FIfSY % afe 1 Taey s & eshe st 81 1 98 s gafmey 2t €1
If the areas of two similar triangles are equal, then prove that they are congruent.
31e1ET /OR
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23.

24.

25.

26.

3t TS eTpfa | < B[Sl ABC q91 DBC ST BC % U& @ iR feerd 81 PQ||BA @1 PR||BD ©|

g =ifsTT fs6 QR||AD.
A D
Q R
B P C

In the given figure, two triangles ABC and DBC lie on same side of BC such that PQ|BA
and PR||BD. Prove that QR||AD.
A D

B P =

IS 5in30 = cos(6 — 6°), ST 30 TAT 6 — 6° T =[AHI &, A O T A A HITSC |

If sin30 = cos(6 — 6°), where 30 and 6 — 6° are both acute angles, find the value of 6.

T efferel o1 TTeA, qe AR A1 HIfT

ot 0-10 | 10-20 | 20-30 | 30-40 | 40-50

SESANAT 8 16 36 34 6
Find mean, and median for the following data :

Class : 0-10 | 10-20 | 20-30 | 30-40 | 40-50

Frequency : 8 16 36 34 6

@Us-3 / SECTION-D
9 H&a1 25 9 34 H Uh h 4 37k ¢ |

Question numbers 25 to 34 carry four marks each.

ot fausH Teniem g g wifse i foreft omeTs qa W@ &1 o 3n 379@13n+1 & €9
H g 2

By Euclid division algorithm, show that square of any positive integer is of the form 3n or
3n+1.

k % fhE A & foTT TRt & 79 61 DI 5 T2l § 2

3x+y=1

Ck=1)x+ (k—1)y=2k+1

For what value of k will the pair of equations have no solution ?
3x+y=1

k=1)x+(k—1)y=2k+1
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27.

28.

29.

30.

31.

32.

33.

g HIT T (secA — tanA)*(1 +sinA) =1—sinA
Prove that (secA —tanA)” (1 +sinA)=1—sinA

= e7ees ' Q4 T YR 1 a1 ' F A YRR 1 ARl Gifau

3 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
SRR 8 10 14 12 4 2
e A1 hITSIT | HIEe ] TUMT §RT Tefda shifsTa |

Draw ‘less than” and “more than” ogives for the following distribution :
Scores : 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
Frequency : 8 10 14 12 4 2
Hence find they median. Verify the result through calculations.

p(x) =8x* +14x’ — 2x* + 8x — 12 T T HAT ST AT AT TohaA1 ST TG F 44 + 3% — 2 TGIE p(¥)
1 OGS §l ST 7
What must be subtracted or added to p(x) =8x" +14x’ — 2x° + 8x — 12 so that 4x*+3x—2is a
factor of p(x) ?

319ET /OR
x AATy & ford 7 g

133x + 87y =353
asr 87x +133y =307

Solve for x and y
133x + 87y =353
and  87x+133y=307

AABC H ST AB @2 AC R fag P d&1 Q 9T € 991 PQ ¥9I<R BC 71 fog =ifsie f fag A
T Wi T Y= BC it WftAsd AD W@ave PQ i o gHfgG it ¥

In AABC, P and Q are the points on the sides AB and AC respectively such that PQ is
parallel to BC. Prove that median AD drawn from A to BC bisects PQ also.
34T /OR

T GeTg s ABC H AD1BC 81 fog ®IfST foh 3BAB*=4AD”
In an equilateral AABC, AD1BC. Prove that 3AB*=4AD",

IS sind + cosd = m TAT sech + cosech =n, T Tl TG HIfT ff n(m’—1)=2m

If 5in6 + cos® = m and sech + cosech =n, then prove that n(m”—1)=2m

fag HifST o < ey Ssil & SFwal 1 ST 39 1 W7 sisii o ol & T4 SR § |
Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares
on their corresponding sides.

firg =T i tan® +sin® _ secO +1

tand —sin®  sech — 1
tan® +sin® _ secO + 1
tanf — sin® sec) — 1

Prove that :
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34.

T aifereht © £ 1 1 A1 RIS (S 36 1 gt 65 @

ot 0-20 | 20-40 | 40-60 | 60-80 | 80-100 | 100 -120
ST 6 8 f 12 6 5
STRT IRTEIRATT 6, 8, f; A112 3TRE A H 7|
Find the value of f; from the following data if its mode is 65 :
Class 0-20 | 20-40 | 40-60 | 60-80 | 80-100 | 100 -120
Frequency 6 8 i 12 6 5

where frequency 6, 8, fi and 12 are in ascending order.

-00o0-
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